%: —FR4

v A = IRBSY

W‘Jl.ﬁ“ﬁj‘”xyzzsdv, Hrromiimz=xy, y=x, x=1, z=0FT
IR0 8 Py X
fE. B R R Q: 0<z<xy, 0<y<x, 0<x<1

It A .[yxyzzgdv = ijdx.[oxyzdy.[oxyfdz = %J.:XdeJ-OXdey I xPdx =

364

Ty FEARRRAC R
X = pcosd
VEREAARRACH: Jy = psing

dp)do
. (p+dp)

)
X
dv z%[pd9+(p+dp)d9]dpdz — (p+dp)dd]d pdz ~ pdéd pdz

?z%ﬂjf(x, Y, z)dv:jjjf(pcose,psine, 2) pd pdGdz

Bl LTRSS 98 [[[aov . S B B

X+ y?+ 2% =4 M3z =x2+ y? P CESa i A B8 —843)
f: QI AR 2+ y2+ 22 =4, 3z=x+Yy?
gl Qi . Bl e+ y2+ 22 =44k b pP+22 =4, z=\/4-p?

2
?ﬁﬂﬁ&:x%yz%ﬁwz:pz,z:%
2
Efﬂp2+22=452=%?%2422?%p=\/§
2
a: 0<0<2z, 0<p<i3, %st 4— p?

[[[ zdv= [[[ zpd pdedz = [ do]  pap[ ™ 2z
Q Q' 3

1 cor V3 4 V3 > 137
=§j0 do|) p(4—p2—%)dr:7rjo (4r—p3—%)dp=—

4



il Z.iJrﬁJ.” X2+yidv, HA oW Fliy+z=4, x+y+z=15RFH

X2 +y? = 1T [ s 1 A X 3

. ofExoy i FHIHEE D +y?<1,1M Y (x,y)eD I, 5 ilF
1-x-y<4-yTLFH z=4-y 7 TPl z=1-x-y 1) B0y, RAFAR
bRAEFIi xOy EEUAT (p,0) 1E 3 F TP 1 xOy [ HEZ 5 R AN LI A8

A ARBR AT A 2= 4— psin@ Fll z=1— pcos@— psind
PR R X +y2 = p

(s ] e o] e

1-pcosf— psmH

4 1

2z
(7 1 2 (7| s P B 1 . 3
_J'O d0j0(3+pcosé?)p d,o—j0 {p +Tcosé’} d¢9—[9+zsm¢9}0 =27

0

SRR AR ZL/P "
X = pcosdsin g [ ‘
fERRTHARARACHE: {y=psindsing g
Z=pcosy /gm

P PA~ pdg, PB ~ (psin@)ag, PC~dp

dv =~ PAxPBxPC ~ p*sin@d pddd ¢

%%m'f(x, Y, z)dv:m'f(pcosé’sin @, psSin@sin g, pcosp) p® sind pddd o
Q Q'

B LR RN p=x* +y? + 2 AR QI IEM , X H Q& HER
If x* +y? + 2% = R* 5 HEN 2 = x® + y* BT LA XA CRETHT £ P 780

i HAEAM Zj”(x2+y2+zz)dv

SARQIIRI: +y +22=R*Hz=x*+y?

VERRTH AR FR1R3% X = pcos@sing, y = psin@sing,z = pcose

X +y + 22 =R*MHN p? =R%, p=R



z=+x2+y* tH pCOS(0=pSin(0,tan(p:1,(0:%

TRQ: OSpSR,OS(/)S%,OSHSZH

PR AL 1= X2+ y2 +2° = p?
R

M :joz”dejfsin godgoj:p“dp:joz”dejfsin q{%j do

= 27[.[—COS¢]§ .{%T _ 27[5R5 (l—%)

il 2 R H = AR SR i 22 = x2 + y? 2 =1 BT R S AR B ED (X
B p=1),
g EELQX,Y,2)
Kt MER, RS S, x=y =0,
F AT AR bR 5
XD, i +y <1y <z<1, Blr<z<i, TR

7 7 ez 3T
M :jijl.dv:joz dof dr['riz=["do[ ra-nrdr= [ {%_%}Odgzg

i

1
Mxy:J"”pzdv:'[;”dej':rdrfzdz:%J.Ohdé?].:(r—rg)dr=7{§_%} %
) 0
fa =M =3 n sty oo

U oo tiAT 5 oAU e mT He A7 51



